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In right AABC, 2B =90° and 2zA =60
3 BC

4tan®@=3=>tan @ 4 AB
Let BC = 3k and AB = 4k
Then, AC?= ABZ + BC? = 16k? + 9k? = 25k?

=AC =.f25% =5k

In right AABC, 2B =90° and A =60

tang= 2 - BC

b AB
AC?= AB?+BC?=Db?+a?



=AC = b? = &

-5in6=E= @ andcose=E=L
B AC h? - &’ AC m
;.a:< 2 -bx b
_[asine-bcosg | N, N
“lasiné-bcose/ d b
: g a b«
L oAb g Jb* <3
a® b
_ IE:_a: IE:—a
a2 b
Wb' a7 -a
_(a@-b")
a’ -b*
Solution 12
. 12 .
sinf == ....given
13
We know that,

056 = 4f1-5sin“6 =

[2sinB-3cos6 !

(5, |
13
"l 4sing~9coss =:. 4,12 g, ﬁ\_
Solution 13 '\e\N L‘(% |
e\

In right AABC, 4B =90° and ZA =0
Let BC =k and AB = 2k
Then, AC?= AB? + BC? = (4k? + k%)= 5k?

S R
169 Y169 13



Consider AABC where 2B =907, 2A =8
Perpendicular BC &% -b®
Hypotenuse TAC T F+b?
Let BC=a°-b? and AC= &° + b~
Then, by Pythagoras theorem,
AC? = AB? + BC?
= AR = ACT-BC? = (a®+b* ¥ - (8 -b*F = a*+ b*+ 2ab” - a* - b* + 287 = 487
= AB = 2ab

Then, sing =

Mo,
s B Base _AB 2ab
" Hypotenuse AC &2+ b2
. 2 2
. Perpendicular _BC_=a -b
Base AB Zab
1 Zab
fLo= =
<o tang & - h*
cosecH = L _&g b’
sing  a‘-b?
i 1 a + b?
cos8  2ab O u\k
Solution 10 C ’




X
Y A 2 B
We have,
i W
tanbd = — dtan B=——=
an Ay an n 57
Since tan A = tan B
o WZ
A BZ
XY AY :
=k
e ckGay) 0
= XY =k xWZ and AY =k xBZ (i)
Uszing Pythagoras theorem in triangles X4Y and WBZ, we have
MAZ = WY 4 AYE and  WB? = WZz? + BZ? CO .
= WA = kEWZ2 L kEBZE and  WBZ = WZZ+E522 \

= XA% = KA (WZZ+BZ7) and  WB*®

| XA k2(W22+E.22 “Omv‘ﬁ O_‘ 26

WE?Z (WZE+E5

= 1(6\,(\) Page 2

Fro i, (i) and (i), we get
X AY XA

WZ BZ WB

= ALYH ~ ABSWY

=S8 =0B
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